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1.  Luke made this pattern of suns using circles and triangles. Continue the sketch up to 56 triangles.
a)  How many suns can Luke make using 56 triangles?  
suns
Use a sketch or a model.
b)  How many triangles will Luke need to make 9 suns?
Use a table.

	      Suns
	    Triangles

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	


2.  At the start of a game, each player has 5 balls and 7 sticks.
a)  Make a table to show the number of balls and the number
of sticks for 1 to 4 players.

	Number of  Players
	 Balls 
	  Sticks

	
	
	

	
	
	

	
	
	

	
	
	


b)  Write pattern rules for the patterns in your table.
                  Balls:
                 Sticks:
c)  42 sticks were given out at the start of the game.
How many people were playing the game? (continue the table)
3.  Kayla had 48 tokens to play at the arcade. Each game cost the same number of tokens. Here is what the pattern looked like:
48, 44, 40, 36,…
a)  Why do the numbers in Kayla’s pattern decrease by 4?
b)  What is Kayla’s pattern rule?
c)  Kayla used all of her tokens. How many games did Kayla play? Use a number line or equation to show your thinking.

. 









4.  Liam set up a display of cans at the store so that there are three cans
in the first row, six in the second row, nine in the third row, and so on.
a)  Extend the pattern. Use the pairing strategy and show your computations. How many cans would be in the eighth row?  

b)  Use a pattern to show how many cans there are, in total, in the eight rows.
Write a number sentence to show the sum.

5.  Write an expression for each situation.
a)  7 less than a number
 

b)  12 more than a number  

c)  29 more than a number  

d)  29 less than a number   

6.  Oswald is 5 years older than his brother. Use an expression to show the age difference.
(Use addition in one expression and subtraction in the other expression.)
7.  Answer each equation (show your work or explain your understanding).
Then, write the value of the variable.
a)  15 +  q =  38                                      b)  m- 8 =  47

              q=                                                       m=


       c)  10 +  Y =  25                                        d)  X- 8 =  20

            Y=                                                       X=


